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243, 242, 230 225, 216, 200, 161,

6082 6036 764 S5 s 4999 a2

1940, 1939, 1930, 1925, 1916, 1900, 185,

99.41  99.40 9930 9925 9917 9901 9549

876, 8.8, 901, 912, 928 955 1013,

27.13 27.23 28.24 28.M 29.46 30.81 34.12 3

593, 5.96, 6.26, 639, 6.59, 6.94, 771,

1445 1454 1552 1598 1669 1800 2120

470, 474, 505, 519, 541, 579, 66,

996  10.05 1097 1139 1206 1327 1626

294, 297, 333, 348, 371, 410, 4%,

4.78 4.85 5.64 5.99 6.55 7.56 10.04

272, 2.76, 311, 3.26, 3.49, 3.88, 4.75, 12

422 430 5.06 41 595  6m3  9m

251, 255, 290, 306, 329, 368, 454,

373 380 456 489 542 636 868

231, 235, 271, 287, 3.10, 3.49, 435, 20

330 3437 410 443 494 585 810

198, 202, 240, 256, 279, 318 403,

262 270 341 3m 420 506 711

188, 192, 230, 246, 270, 309, 394,

2.34 251 3.20 3.51 3.98 4.82 6.90 100

1.83, 1.87, 226, 241, 2.65, 3.04, 389,

234 241 a1 341 338 4m 676

179, 183, 221, 237, 260, 299, 384,

224 232 302 332 378 460 664
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19.50 19.49 19.49 19.47 19.47 19.46 19.44 19.42 19.41
99.50 99.49 99.49 99.48 99.48 99.47 99.45 99.43 99.42
.53 B.54 B.56 B.58 B.60 .62 B.66 871 8.74
26.18 26.18 26.23 26.30 26.41 26.50 26.69 26.92 27.05
5.63 5.65 5.66 5.70 5.71 5.74 5.80 5.87 591
13.46 13.52 13.57 13.69 13.74 13.83 14.02 14.24 14.37
4.36 4.38 4.40 4.44 4.46 4.50 4.56 4.64 4.68
9.02 9.07 9.13 9.24 9.29 938 9,55 9.77 9.89
2.54 2.56 2.59 2.64 2.67 2.70 277 2.86 291
3N 3.96 4.01 4.12 4.17 425 441 4.60 4.71
2.30 2.32 235 2.40 242 246 254 2.64 2.69
336 341 346 3.56 3.61 3.70 3.86 4.05 4.16
207 2.10 2.12 218 2.21 225 233 243 248
2.87 2.92 297 3.07 312 3.20 3.36 3.56 3.67
1.84 1.87 1.90 1.96 1.99 2.04 2.12 223 228
242 247 253 2.63 .69 2.77 294 313 3.23
1.44 1.48 1.52 1.60 1.63 1.69 1.78 1.90 1.95
1.68 1.76 1.82 1.94 2.00 2.10 2.26 2.46 2.56
1.28 1.34 1.39 1.48 1.51 1.57 1.68 1.79 1.85
1.43 1.51 1.59 1.73 1.79 1.89 2.06 2.26 2.36
1.19 1.26 1.32 1.42 1.45 1.52 1.62 1.74 1.80
1.28 1.39 1.48 1.62 1.69 1.79 1.97 1.17 2.28
1.00 1.17 1.24 135 1.40 1.46 1.57 1.69 1.75

1.00 1.25 1.36 1.52 1.59 1.69 1.87 2.07 2,18
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88, =(1-4)" +(4-4) +(3-4)" +(7-4)" + (5-4)* =20;
i=2 ladey
85, =(5-7.6)* +(8-7.6)* +(6-7.6)* +(9-7.6)* +(10-7.6)* =17.2;
i=3 ladey
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SS..., =SS, +55,+85,=48.0
dag M slas V1 Loy e 522
MS,, ..=88, . IDF, . =875/2=437
MS,,, =85S, /DF,  =480/12.0=4
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40 48.0 12 el
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4. (Minitab Statistical Software, Release 13.32, Minitab, 2000) R

t S J sk G gl s ANOVA

syl (ANOVA) 8 gl

a i MS SS df bl
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0.702 5.613 8 U
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